Wednesday, 3 March 2021

Focus on... Mathematics

Think of a number.
in 1985, miners called off their year-long ; Double it. Add six. Half it.

= i
1ol strike. Miners' leaders voted to end the 8 Take away the number you
-‘_é’ longest-running industrial dispute in Britain L':' started with.
"E without any peace deal over pit closures. =
LL
2 Your answer is... 3
.
) = )
Can You Solve This?
: There are 4 flavours
q; of ice-cream: vanilla, ﬁ+ﬁ+ﬁ = 30
- strawberry,
=1 chocolate and mint. %? %? @ =18
f, How many different
o) 2 scoop ice-creams ([ )
O can you buy?
. V.
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